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aflomr 01 @uzsmenr LfIHSIDTHEBLILILL.  6eDL H61T

1.1 (3)
4+4x =x+ 16

3x =12
X=
03 1er161fB60T)
1.2 (3)
ol g= Xrn X=20000, 'n=3, r=0.08
S = 250,000 x 0.18X3
S =135,000
eulp = Rs. 135,000
03 1eri61fB61T)
1.3  (4)
S = X(1 +r/N)™N S$=228,112, n=3, r=012, N=4
228112 = x(1 + 0.12/4)3**
228112
T (1+0.12/4)12
X= 228,112
(1.03)2
X =160,000.00
03 yeirerizen)
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1.4 (1)

1.5  (2)
1.6 (2)
1.7 (4)
1.8 (3)

L1=29.5,

10

A=15—-11=4 C

A,=15-6=9

A
1 ]xC

A+ A,

4

449

M0=Li+[

MO:29.5+[ ]><10

M, =

98]

2.5

oe}

nyxy — Xx.2y

r =
JGz2 - @02) (rEv2 - Gp2)

5 X527 - 61X37

r =
\/(5 X 869 = 61%) (5 x 321= 37%)

378

V147264

r =-0.985

P=22%100=117%
24 E—

03 erierfizer)

(03 yeirerisen)

03 yeirerisen)

(03 rjorieriies6nr)

SHEWTeN6H LOBBID enenall EMHEUBL QorHSHT FLiguplifled GeuByl CUBIISBETE HlEDHH6)

3 2
==X -
8 5
-3
20
(03 yer161fB607)
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1.9 (1)

§=YxS
SAHe0L 2023 THHHMBHME 61dT6e] FapliuBd efBusnenr = 10,265 X 1.06 = 10,881
=10,881
03 1er161B60T)
1.10 (1)
S=X1A+n" X=500,000, r =0.18, n=3
S = 500,000 x 1.183
S = 821,516
(03 yeirerisen)
1.11
A —— (4)
B ——> (3)
cC ——> (2
D —— (1)
(@aGlsurtsimd 01 veier] ofsd 04 Ljerierfisen)
1.12
100-30=70
. . 4 . . 70
Henllellenl HBHTH LOTENI6)TH6Y6N 6cTevotemi bema= 240 X 700
=168
2 1eri61fB617)
1.13
Sn = E{Za +(n—-1d}
Sn=12—2{2><—7+(12—1)><6}
= 312
02 1eriorfsenr)
1.14 emip 1 1y6irerf])
1.15 & (01 ry6i67f])

(Corggtd 40 Leireriser)

ugsl A wpipsy
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(Corssd 40 LjeriofiselT)

afleorr 02 @smenr LIfIbRIDTSBLII L 6)lemL_ B61T

‘ SSBITLID 01 - HHBHBI0N DHUQLILIGDL. 6TERTERTS S (55 B6IT

(a)

yHw eampluiraeledr  elemtentdHend =X

SWILRID uTUIHE emiflulTdHerien eTewienidemsd = Y

50,000x + 125,000y = 3,875,000 —@
x+y= 40 4@

Q 50,000 (40-y) + 125,000y  =3,875000———

2,000,000 — 50,000y + 125,000y = 3,875 000

75,000y = 1,875,000
y_=25
@ x+y=40
x+25 =40
x =15

yHw eampluiraeedr  6Temieuildaend =15

SILID euTuIhd 2mfluliTserleln elemienidbemnd =25

(b)

QuraIl CuTE@GaITHSHemen LIWLTUIBSHEHID 2emflulTaderen 6T6vlemldbemad

Qm Cumbdlsd 50 sampuitselBg @R weflds (Wigujb

(04 veriraifiasen)

_ 7
=350 X 7€

(03 yeirsifisei)
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(c) 2023 oiib PewIgBE SIATUTTSSUIUGBID E60mLID =20,000,000X%
(03 Ljsrrerfizen)

(Conssd 10 Lsreriise)

aleorr 03 @ismenr LIfIbRIDISBLIL L 6oL B61T

SSIwTLD 03 — cUwABSHDIT BIBIFTT GCFLBLITL B e (HB61T

(a) Qurss eumomend Fmjy (TR) = alemev  x Sl@GBH6I
TR =(30+29)X (q

TR = 30q+2¢g?
03 o1 61)

(b)
@60 BULIbBB  UsiTefufey;

TR=TC
30q+ 292 = 2q2# 24 +5,600
30q - 2q = 5,600
28q = 5,600

q = 200 ©i60@&6iT

L. @eomu BULLOBE SHeniund =200 Siv@&SH6I

04 1eri61fB617)

(c)

d (TC
eleoemevdd &lywi (MC) ity = (TO)

dq

d(TC)  d(2q2+2q+5,600)

dq dq

MC =4q+2
g alB@ ukeS® 250
MC =4x250+2
= 1,002
6T606m6VG  AlFulld (MC) = Rs. 1,002

03 veirsrieser)

(Clongstd 10 LjsrieriiseT)
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afleorr 04 @zsmenr LIfIbGIDTSBLII L 6XemL_B61T

‘ QSFlmd 05 - @yewi® SNl @ wipsemen QLILIBS6

(a)

X Y XY X2

18 85 1,530 324
25 90 2,250 625
30 96 2,880 900
36 100 3,600 1,296
40 110 4,400 1,600
50 115 5,750 2,500
60 125 7,500 3,600
65 140 9,100 4,225
324 861 37,010 15,070

Y X=324, YY=861, Y XY=87010, ¥ X2=15070, n=8

b = nNYXY-&FX.YY
(T X2= (X X)?)
b = 8 X 37,010- 324 X 861

(8 X 15,070 - 324?)

_296,080—-278,964

b ~ 120,560-104,976

b = 10983
a =Y —bX
a = 2> —1.0983 x -
a = 63.143

By aids LIBOsFveys Gsr®, Y = a+bX

Y =63.143 + 1.098x //
Or

Y =63.14 + 1.098x //
(07 veirerfisen)
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(b) g 72 & Cungl,

SBurgl, x =72

Y =63.143 +1.098 x 72
Y=142.2

03 L1161 617)
(Corssd 10 Lersiset)

oot 05 @wmeor LfIbSIDTHBLILILL.  6MenL &6l

‘ DSIITLID 04 - SHF6y aUPmIBID eSS HeeBiD

(a)

@enLGeuer BGLILeTeM f Slyeit  Wigmedt fx
(x) (cf)
20-29 24.5 10 10 245
30-39 34.5 18 28 621
40-49 445 30 58 1,335
50 — 59 (Median 103 2,452.50
54.5 45
Class)
60 - 69 64.5 17 120 1,096.50
120 5750

(a) (i) @ewrunbp (Md)

% =60, @mLwb ey 49.5—59.5(50 — 59)

L1=49.5 n=120 Fc=58 Fm =45 €C=59.5-49.5=10
n
(5 —Fc)
Md =L+—=—— Xc
fm
(60 —58)
Md =49.5+T x 10

2
Md _49'5+E x 10

Md = 49.94

(04 vyrierfisen
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(i)

Y fx = 5750 Yf=120
_Lfx
o =57
_ 5750
~ 120
= 47.92
(03 Ly6r16105B61T)
(c)
. ) 3(x-Md)
RUTWS  GH6mI&HLD = — 5
_ 3(47.92-149.94)
B 77.42
= -0.53
03 1erierim6)
(Gorgsd 10 Leirafiser)
@&l B wpigsy
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(Clorsstd 20 Lis1e1hise)

aflsmr 06 @wsmen LfIbBImISEBLILLL  isnL B61T

(A)

SYSBITLID 02 — NS SHBIBBITEN [B)DHIbDBHBLO

P =800,000,n=5,r=0.09

QUMBLTHS Helenenid &l Lewld =P =

P =

r (1+r)"
T @+nn-1

800,000 x 0.09 (1+0.9)°

(1+0.9)5-1
X = 205,674
QUHL_MF 621 63) 6307 UL IIT 60T Rs.205,674

(03 yeirerfizen)
(b)
QSIITLID 02 — eUeTHBSBIBBTN BB S60BLO
(a)
. STHULTUIFF6D s\feyssryent | benpUUBILg | SBeBLCLBILS
/W6 q (10%) (P) (@
0 (450,000) (400,000) 1.000 (450,000) (400,000)
1 250,000 250,000 0.909 227,250 227,250
2 200,000 200,000 0.826 165,200 165,200
3 125,000 75,000 0.751 93,875 56,325
NPV 36,325 48,775
rwBALID Pulenr mar @mevmliumios = 36,325
CrwBA_LID Quisi May Smenmll Gumos) = 48,775
06 veirerfizen)
(b)
CFwBAL LD P QFwBaLLID Q
(w5650 450,000 400,000
NPV 36,325 48,775
Qe OCFwBHLmsefeipd BHeEy Sbenpl  Gupuodwrengk  GBTL QUL HENTS
2_6iTengil.
SLeNmey, QFWBSHL LD Q 10s iFsnen GBI GUEILSUTmeTr GETeIB6ITENG.
U506, QFuBHL LD Q Yogl WBF FBhD (WPHELTGLD.
02 yeirefizen)
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(C)
SGIITLID 06 — BIBLSEYD DBH6T BewfLILBBEILD

safluit euend | SIHLOGRILOTEIGUTHSEIT | 5 IHLOGRTLON BT HEUTSH6IT QoTHBID
(LPSTDLOHHINILD 6 14 20
NIV ) 25 10 35
CFwBUTBH6IT 45 30 75
QT SHID 76 54 130
(a) g = % = 0.6

(b) =~ = 2 = 0.1538
130 13
(03 veirsrissen)

(D)

‘ SHITLID 06 - BIBPSHBYD ST BeWhLILTBSEIHLD

X Bamil @euenenuien oeveusnay (mi)

= 232 o =5ml
X_
7=2""r
(e}
_ X —232
T s
X =225
225 —232
_ 5
/= -1.4

0.5-0.4192

225 232

-14 0
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Pr(x<225) =P (z<-1.4)

=0.5-0.4192
=0.0808 or 8%

(04 yenefaseir)
(Conssd 20 Lsreriisen)

uasl C upigsy
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Notice:
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The
fundamental objective of this publication is to add completeness to its series of study texts, designs
especially for the benefit of those students who are engaged in self-studies. These are intended to
assist them with the exploration of the relevant subject matter and further enhance their understanding
as well as stay relevant in the art of answering questions at examination level.

© 2021 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka). All rights
reserved. No part of this document may be reproduced or transmitted in any form or by any means,
electronic, mechanical, photocopying, recording or otherwise without prior written permission of the
Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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